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4323 236,326 235,917 409(1. A& A SH| 122,239,000 &
&4 8 4 st 2. 2 ASH| 46,955,000 &
3. DIIFHAEH S N HEASHI 14,720,000 &

4. JIX X #=2ldl 44,378,000 &

5. JIRM eladxtz 7,440,000 &

6. &4SHIIEH 2| 594,000 &

A 236,326,000 &

4325 178,305 174,851 3,454(1. SOt2| N&Hl 300,000 &
s M4 X | b 2. HAE3AL NI&HI 11,145,000 &
3. StMT OTXI&ZHI 10,410,000 &

4. SEASUHR X H R 10,312,000 &

5. ZESIEM A ZHIZBH| 26,248,000 &
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_20_245.”55 _20_245.“55 g.2(2) M4 & 2
2 5t = 2XH=F 0 &H(A)  IXHF=Z 0 &H(A) (A-8)
1240 45,000 245,000
JEBE X &
Xl =
1249 45,000 245,000
JIEFR AT &
1300 358,429 210,206 148,223
3 L
h & X
1310 358,429 210,206 148,223
s 8 1 &F
A a0
1314 166,724 48,007 108,717|1. IR M= AUHS ALY 18,841,000 &
J A I F 2. St KU REA AL 2 & 34,373,000 &
OH = B 3. JIEF JIHIDI= 2 H| 103,510,000 &
A 166,724,000 &
1315 53,770 16,800 36,970|1. AtRESEIIXM P HI 7,606,000 &
g Jl H 3 2. NRENEIITH T L 900,000 &
OH = B 3. JIetEIIHIERY 45,264,000 &
A 53,770,000 &
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Jo

_20_245.“55 _20_245.“55 g.2(2) 4 = 2
2 5t = 2XH=F 0 &H(A)  IXHF=Z 0 &H(A) (A-8)

1316 46,335 46,335 Ag2et 7| 46,335,000 &

A g &g+

OH = B

1317 101,600 99,064 2,636(1. FUHEZ=A 2L 20,175,000 &

S A 2. A=A 2H| 249,000 &

OH = B 3. HIEA HH| 81,176,000 &
A 101,600,000 &

OIAFZ2XII01 B It =
=XESAH 40,490,646 40,774,227 283,581
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